axX 5] =
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R BR B R AR 2E BB

i
" R3 FRER 2 ek DIR G FHEFS A
Z2 K F 5 2021-10-005444
T #H % RKEFrdg (3) TH
T EHE T H
T %= %5 Fr
w T Xk
LI [RH ~ o 44 2H25H
oA R
r 2 H % sk sk sk sk sk sk sk sk sk ok
T 2= 3l A=A
) YA UV FTOMDTAEYNZBET 2 TH (EARTHSE)
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]

HUKT  1f&E5T

# i & # 60, 289, 900 M
THE R X 440 54, 809, 000 8]
BB R D S L

RO R E B 5, 480, 900 a1

#H




FERL N (

1/

2)

EEZANIX T E PN

[z | Kepimkis (3) T

HOH 4 2} e
EEEq/va RBRFF A% & i DR A 5 B
HEL N
i1 XA KAt i X
T4 Regrimdds (3) TH
it T4 Pt REFHEHE2 TH
TSy
ALK 5y EEIlCN
X 5y KB UfFHEHE)
HX X5y M - N2
T35
RS RLEA B33 A
HALff 40 36 1 4 B 3EA4A—A
A5 I P 42 BR24E0 85 —A

BhHEHA




HEEE (2 )
EEZARE YT EE BN T
[z | Kepimkis (3) T
EE H H 4 Bk % HLAL & fiii =&
AT 60,289,900

- Tgefilith 54,809,000

- WHEBRRYEE (1.0%) 5,480,900
THEANE




TFRIE (

1/

3)

EEZ AR EE BN T

[z | Kepibkis (3) T

HOH 4 N e
TH4
THX 5y
R X 5y EEiE
FERLRSRIX 5y [ AT ]
THEX Sy Z O AR T H(2)
THERSRIX 5y ZofhtATHE (2)
TR TR RERS AR249 9% [15]
TG F B B )
AR S EI S 350 % % 40%LL

WX IR - JEHFF - 1 FEAR
F Kk 2 B AHIE 4HBIRLL L
i T3 X 5y HHiEZe L




TS ( 2/ 3)

EEZ3 } T MBS R R X

[CCaes | Kemmbikds (3) 14
B OH 4% s AL & B i #
1 T feffiifs 54,809,000
2 - T 46,668,000
3 T 35,248,000
4 - - FETHER 29,956,000
5 - - - EETHEE (KETEER 1.000 & 23,116,000
6 - - - EHELHEL (KEL) 1.000 | st 6,840,000
7 - - T 16,712,000
8 - - - LR 5,292,000
CERIRERIRE (= <5 U N N2 F:s 1.000 & 0
10 - - - - SR~ R R
(4+9+22+23+28+31-33-34-35) X ((ARHE{E*4#1E {IE+48 IF () * 4 IE {4 IE fiE)
29,956,000 X ((11.460*1.000+0.000)*1.000*1.040) 11.920 % 3,571,000
11 - - - - R 1.000 £V 1,433,000
12 - - - . W 1.000 A 0
13 - - - - A 1.000 K 0
14 - - - - 1.000 £V 257,000
15 - - - - g 1.000 | st 31,000
16 - - - - R 1.000 £y 0
17 - - - - BGmREGER 0
18 « ¢ o - - BB UGER (GREF L)
(4+22+29-30) x (1E#iE)
29,203,000 % (0.000) 0.000 % 0
9 « - - - BYBEISET (BEE) 1.000 | st 0
20 - - - HGET
(4+8+22+23+24+27-33-35) X ((FRHENE 44 1E {IB) 48 I fiE 4% IF {iE+4# 1F B +4# 1E {E-1H 1E {E)
35,248,000 X ((30.570*1.000)*1.000*1.060+0.000+0.000-0.000) 32.400 % 11,420,000
21 - - - THUERSICPE D BYHER S 0 11 1.000 N 0
22 - - B (BT 1.000 e 0
23 - - ERVER (FERAPIL) 1.000 N 0
24 - FEE (BT - FEERK LR 1.000 e 0
25 - —RE R
(4+7-33-35) x (AR E*1# EE+RFEEE)
46,668,000 X (17.400%1.000+0.04) 17.440 % 8,138,000
26 - —ffiEk Rk 1.000 | =t 3,000
27 Zfadh e 0
28 Kitdh# (BT - grEERAPIIL) 0
29 X% (ETL) 0
30 Moy (EHE LHEOWNE) 753,000
31 gy A (i OB 0
32 Moy B (R I R N R 0




THERISE ( 3/ 3)
EEZARE YT EE BN T
[TH4 | Ansmskds (3) T
I % W B & # i %
33 Moy R (RIS 0
34 M3 (AR L R 0
35 A7fignin gy 2 0
36 i E AR AR (T Sl b O A
(1-26) x {2l
54,806,000 X 4.940 4.940 | % 2,707,000




TRBRMmET =% ( 1/ 10)
EEZAR s PN e
[TF4 | Ansrhgds (3) T%
4 O W) B & HLAT i & H fii_#
EEIEE (REIZEKRO
23,116,000
- BUKERRT
1.000 = 20,832,000
-xT
1.000 = 2,702,000
000001 tHHEAI 1 K&ty
1.000 o 978,280 978,280 | BE 1%
TO0005 Hitffik FL T HA - HA
114kg/m3 o B E2m 128.000 uf 3,480 445,440 | TH 5%
SA0101 +-AbHi HA - HA
8y A7 iy b, -, BEL ML ,5,000m3FA -, -~ 1,340.000 m3 296.8 397,712 | SHL 41%
S02721 => 7 U— hEUEL A HA
AT , O e, B, B, L 72\ 4BIRLL E 19.000 n3 7,112 135,128 | SHL 16%
it 978,280
000002 1R L 1 K&ty
1.000 = 896,412 896,412 | BE 2%
TO0007 HEEE L (#i&4)Ei0) HA - HA
144.000 m3 2,967 427,248 | TH. 75
T00008 HIEE L (1=B=2.5m) HA - HA
34.000 m3 1,956 66,504 | TH 8%
T00009 HE L (2.5=B=4.0m) HA - HA
53.000 m3 918 48,654 | TH 9%
T00010 HEEE L (4.0m=B) HA - HA
831.000 m3 426 354,006 | TH. 10%
Fil 896,412
000003 Bt k@it LEIF 1 KXY
1.000 = 103,459 103,459 | BH 3§
SA0152 L4 HA - HA
L SR OO O VU O 1.0 O 7 1 . O oY) 265.000 it 373.6 99,004 | SH 56%
S02701 #f+T. HA - HA
HEAERD T, N T (Fi7-47) ,300m2A i, - 3.000 nf 1,485 4,455 | SH 15%
Fin 103,459
000004 %+ - HSW5n 1KY
1.000 = 724,086 724,086 | BE 4%
T0O0001 %% 144y HA HA
163.000 m3 3,734 608,642 | TH 1%
T00002 # 7 KLsy (HEfT; HA A
19.000 m3 6,076 115,444 | THE 2%
Fin 724,086
& &t 2,702,237
- - SRR
1.000 = 6,630,000
000005 A &R 1KY
1.000 = 1,841,692 1,841,692 | BB 5%
SA0151 KL HA - HA
L REIE 26.000 ni 399 10,374 | SH 55%
SA0311 ¥ L =22 Y — |k (18-8-20BB) HA - HA
ST - SRR EA , v )Y - R /7" HUFTRE , 10m3LA b 100m3A T , — k38 4= 2.600 m3 26,170 68,042 | SH 645
SERMEL ,-,-,, &
SA0312 L =2 Rl HA - HA
— BRI B Lav))-b 1.600 nf 4,432 7,091 | s¥ 7E
SA0311 #kf =2 7 U — h (21-12-2088B) HA - HA
HEFT - R AEIEY , 300 - bR 7" ALFTER, 10m3 LA 1 100m3A i, — AR A, 30.300 m3 26,170 792,951 | S 65%
FERMEL -, -, %
SA0312 TR BRHAEED HA - HA
— AT, BRAT - SR R 81.400 nf 8,635 702,889 | SH 72%
S03701 #4457 SD345 D13 HA - HA
SD345,D13, — kA3, 10tA M, —, M L, — &y ()M L) ,10% 0.875| ton 134,260 117,478 | SH 215
Kl
S03701 #k#M T.4A57 SD345 D22 HA - HA
SD345,022, — X E3E, 10tA T, —, M U, — kit (D2 ) ,10% 0.784 ton 132,200 103,645 | S 22%
Kl
SA0331L =T AF v 7 4 F— t=10 HA - HA
3%, B HIBR (= 230 4) t=10mm 5.000 ni 1,812 9,060 | SHL. 775
SA0332 Ik /KHR HA HA
&t k3% ,CF 200mm X 5mm 10.700 m 2,220 23,754 | SH 78%
S03054 47 L N — ki HA - HA
D16 12.000 ZS 534 6,408 | SHL 20%
it 1,841,692
000006 JEAEER 1 K&ty
1.000 = 405,449 405,449 | BB 6%
SA0151 G L HA - HA
ST 5.000 ot 399 1,995 | SH 555




TRBRMmET =% ( 2/ 10)
EEZAR s PN e
[TF4 | Ansrhgds (3) T%
4 O W) B & HLAT i & H G &
SA0311 HipE= > 7 U — | (18-8-208B) A - HA
HER - BRA RS v ) ) - b V7" AETRR, 10m3LL F-100m3A i, — %8k 1.800 n3 26,170 47,106 | SH 665
FERMEL ,-,-, &0
SA0312 MU HERL =7 ) —h HA HA
— TR, B A - SR AT X 1.300 uf 8,635 11,226 | SH 73%
SA0311 #kffi =227 U — b (21-12-20BB) HA - HA
SEAT - G AE Y , 20 ) - M /7" TR, 10m3LA 1 100m3oR i, a4, 3.700 m3 26,170 96,829 | SH 65%
FERMEL ,-,-, &0
SA0312 HIf  ERAHIEEY HA HA
— AR, $RAT - ST R ) 7.900 nf 8,635 68,217 | SH 72%
SA0706 HEXEE fiaft HA - HA
4+, 800mm, , %5 Fif 2.800 m 44,600 124,880 | SHL 80%
SA0331 =T AF v/ 7 4 T— t=10 HA HA
it B %, B HIR (= 2 5T ) t=10mm 1.000 nf 1,812 1,812 | sH 775
SA0332 Ik HR HA - HA
&t k3% ,CF 200mm X 5mm 4.600 m 2,220 10,212 | SH 78%
S03701 7 L#% D16*1.2m 224 A - HA
SD345,D16, — M {EHE, 10tAI, — , M U, 2577 M OBUERAL L, 10%A it 0.041 ton 129,548 5,311 | S¥ 23%
S03701 #4157 SD345 D13 HA - HA
SD345,D13, — kA%, 10tA M, — , M L, —ftiiddy (D) L) ,10% 0.282 | ton 134,260 37,861 | SHL 21%
ES
it 405,449
000007 JEAEED (LEIKEE) 1 KL=y
1.000 = 165,415 165,415 | B# 75
SA0311 #kffi =227 U — b (21-12-20BB) HA - HA
e - SR AEER , 3V ) - R /7" HEATER, 10m3LA 1 100m3A i , — A% A8 A, 2.000 m3 26,170 52,340 | SH. 65%
SERMEL ,-,-,, & f
SA0312 Hlf Skt IEY A HA
— AT, SR A - S A RS 11.000 nt 8,635 94,985 | SHL 72%
SA0331 =T AF v/ 7 4 T— t=10 HA HA
B2, B R (2 2% t=10mn 3.000 it 1,812 5,436 | SH 77%
SA0332 Ik HR HA - HA
&t -3 % ,CF 200mm X 5mm 5.700 m 2,220 12,654 | S¥ 78%
Fis 165,415
000008 tHpREAR Y & RER 1 XLy
1.000 = 1,173,658 1,173,658 | BH 8%
SA0151 G L HA - HA
S e 11.000 it 399 4,389 | SHL 555
SA0311 ¥ L =2 Y — h (18-8-20BB) HA - HA
SEFTT - BRAAEIE , 30 ) - b 7" ALFTRR , 10m3 LA 1 100m3A i, — AR A, 1.100 m3 26,170 28,787 | SHi 64%
SERMEL ,-,-,, & H
SA0312 #JL =2 I HA - HA
— R Lavs )=} 1.300 nf 4,432 5,762 | S¥ 71%
SA0311 #kfifi=2 > 7 I — h (21-12-2088B) HA - HA
SR - SRR Y, 200 - M V7" HETRR, 10m3LA - 100m3A i , — kA, 19.700 n3 26,170 515,549 | SHi 65%
SERMEL ,-,-, & H
SA0312 Hlf Skt IEY A HA
—ARTR, A - SRR S 55.400 uf 8,635 478,379 | SH 72%
S03701 #kf% N T#AS. SD345 D13 HA - HA
SD345,D13, — % {EHE, 10tAI, —, M L, — ekt (DIRMEL) ,10% 0.641 ton 134,260 86,061 | SHi 21%
Al
S03701 #%f% i T#HS7 SD345 D16 BA A
SD345,D16, — % {EHE, 10tAI, —, M L, — ekt (DIRMEL) ,10% 0.075 ton 132,200 9,915 | SHL 24%
Al
S03701 #kA% AN T#AS. SD345 D19 HA HA
SD345,D19, — % {EHE, 10tAI, —, M L, — ekt (DIRMEL) ,10% 0.339 ton 132,200 44,816 | SH 255
Al
it 1,173,658
000009 #}4EER 1 K&y
1.000 = 2,225,834 2,225,834 | B 98
SA0311 ¥JL =~ U — | (18-8-20BB) HA - HA
SR - BRAAEE Y, v - M V7" HETRR, 10m3LL F-100m3A i , — ki, 4.100 n3 26,170 107,297 | SH 645
FERMEL ,-,-, &0
SA0312 ¥JL = L f A - HA
— BRI, B Lav))-b 4.500 nf 4,432 19,944 | sH 1%
SA0311 #kffi =22 7 U — b (21-12-20BB) HA - HA
BERT - BRAHAETE Y , 2V ) ) =K v7 " BEATER, 10m3LA_F100m3AK i, — %A, 37.900 m3 26,170 991,843 | SH 65%
SERMEL ,-,-, & H
SA0312 Hlf Skt IEY HA A
— T, kA - B RS 99.900 ni 8,635 862,637 | SH T72%
S03701 #kf% N T#ASZ SD345 D13 HA HA
SD345,D13, &3  10CAYH , — 8 L, —fftistyy (W) L) L 10% 1.410 | ton 134,260 189,307 | SHi 215




TRBRMmET =% ( 3/ 10)
EEZAR s PN e
[TF4 | Ansrhgds (3) T%
4 B OR#) B & B i & % fii_#
Kl
S03701 #kAHMN T.4A57 SD345 D16 HA - HA
SD345,D16, — ¥ {EHE, 10tA i, — M L, — ekt (DVRMEL) ,10% 0.253 ton 132,200 33,447 | SH 24%
Kl
SA0331L =T AF v 7 4 F— t=10 HA - HA
B35, BHIBR(Z 230 4) t=10mm 6.000 ni 1,812 10,872 | SH 775
S03701 7 L% D16*1.2m 84 HA - HA
SD345,D16, — k{3, 10CA i , — , M U, 245 M OWLIEALER , 10%Ai 0.015| ton 129,548 1,943 | SH 26%
S03054 47 )L N — i HA HA
D16 16.000 PN 534 8,544 | S¥. 205
Fis 2,225,834
000010 Mt Hi#t 1 KLy
1.000 = 242,749 242,749 | BE 105
SA0151 JRHJL HA - HA
S HE 2.000 it 399 798 | SH 55%
SA0311 ¥JL =~ U — | (18-8-20BB) HA - HA
SEF) - PR AEE , 30 ) - b 7" ALFTER , 10m3 LA 1 100m3A i, — AR A, 0.300 m3 26,170 7,851 | SH 64%
FERMEL -, -, %
SA0312 ¥JL = > f A - HA
— AR ) Lav)) -} 0.500 nf 4,432 2,216 | SH 71%
SA0311 #kffi =22 7 U — b (21-12-208B) HA - HA
MRS - BRI, 2V ) - M v7 HEFT R, 10m3LA | 100m3AT R , — T A=, 2.300 m3 26,170 60,191 | SH. 65%
SERMEL ,-,-,, & F
SA0312 Hlf Skt IEY A A
— T, B - S A RS 15.000 ni 8,635 129,525 | SH 72%
S03701 £k N T#AS. SD345 D13 HA HA
SD345,D13, — ¥ {E3, 10tA, — M L, — kit (DI2ML) ,10% 0.178 ton 134,260 23,898 | SHi 21%
Al
P96008 4 7 v 7 HA - HA
W-300 9.000 1 2,030 18,270
Fil 242,749
000011 REERT 1 KLy
1.000 = 574,822 574,822 | BE 115
T00019 BEE:T. HA - HA
25.600 m 22,454 574,822 | TH. 18%
Fis 574,822
& it 6,629,619
F BT
1.000 = 8,932,000
000012 $44E4°— b+ 1 K&ty
1.000 = 3,683,578 3,683,578 | BE 1285
P96001 Al 7 — k7% HA - HA
$300 3f9 1.000 M 3,154,000 3,154,000
$41009 AHi 5" — R HA A
AN, A4 - (4K, ., 3 3.000 i} 176,526 529,578 | SH. 45%
i 3,683,578
000013 FHEE 1 K&ty
1.000 = 443,742 443,742 | BE 135
P96002 A 7R fffi A - HA
¢ 500 1.000 M 419,000 419,000
S07072 AR iEft HA - HA
9.0m%,500mm,10.0mm, 7= TiAZ i 5 LR LS, 72 L 1.000 x 24,742 24,742 | SH 28%
il 443,742
000014 BEXE 1 K&ty
1.000 = 148,552 148,552 | BB 4%
P96003 it 5 & # fl A - HA
¢ 50 1.000 e 138,000 138,000
S07071 @SB T HA - HA
% U ft 50A(2B) 8.600 m 1,227 10,552 | S 27%
it 148,552
000015 tHItS— bk 1 K&ty
1.000 = 1,717,250 1,717,250 | B# 158
P96004 bt — b i A - HA
600*600 1.000 EN 1,502,000 1,502,000
$41009 +HAbnt4 — hEAF A A
ANEKF, ATAN - (AKE), . 1 1 1.000 i) 215,250 215,250 | SH 46%
it 1,717,250
000016 SAEA v o R 1 K&y
1.000 = 2,938,914 2,938,914 | BE 165
P96005 SN > 7 A i A - HA
1.000 = 2,932,000 2,932,000




TRBRMmET =% ( 4/ 10)
EEZAR s PN e
[TF4 | Ansrhgds (3) T%
%4 B OR#) B & B i & %8 fii_#
SA0551 SR » 7 AHEFE A - HA
fE{+,600kg % #4 % 800kgLA T, 4 L, 72 L 1.000 # 6,914 6,914 | SH 79%
B 2,938,914
& & 8,932,036
T
1.000 = 2,568,000
000017 E@Ea>oY—+h 1 K&y
1.000 = 483,166 483,166 | BH 175
T00016 JEffE=t> 27 UV —h HA - HA
28.300 m 17,073 483,166 | TH 15%
B 483,166
000018 KiFa >4 J— bk 1 K&ty
1.000 = 30,677 30,677 | BH 18%
T00017 K= 7 U —h HA HA
4.400 m 6,972 30,677 | TH. 16%
it 30,677
000019 f@EEa >4 —+k 1 KL=y
1.000 = 333,354 333,354 | BE 195
T00018 [fbE=1> 27 U — k HA - HA
42.000 m 7,937 333,354 | TH 175
Fil 333,354
000020 3k 7B vV EIET 1KY
1.000 = 1,007,186 1,007,186 | BH 205
$02024 357 wy) T.(%E3E) HA - HA
H vy 23 2 94 2 S12em, 72 L 131.000 it 6,994 916,214 | SH 6%
502029 HLAMEA HA - HA
HA79v47V(RC-40),7 nyJ5E Y ,7a L 20.000 m3 4,005 80,100 | SH¥ 7%
SA0331 =T AF v/ 7 4 T— t=10 HA HA
B35, BHIBR (S 2 %) t=10mm 6.000 i 1,812 10,872 | sH 77%
B 1,007,186
000021 FEEa Y U—+ 1 R&f-Y
1.000 = 20,040 20,040 | BE 218
SA0311 f#% =22 U — I (18-8-20BB) HA - HA
EF) - BRAAEIE , N IR OV -V READ) FTRR -, — R - -, -, DY, 0.600 m3 33,400 20,040 | SH. 69%
&1
i 20,040
000022 7 xRk - AT 1 K&y
1.000 = 573,156 573,156 | BE 2%
S02017 7 = > A (ARIK) HA - HA
A-TT7Y,1.2m,7vh=7" ny), BRI A 10.000 m 1,947 19,470 | SH 4%
502018 7 = > A= (BE) HA - HA
A hOT B, BEE 2.000 L 2,979 5,958 | SH# 5%
S08713 7 = v AFkfE (Afk) BA - HA
7 VRARav ) =87 ny s A L1 .5m, b -A2, 100mA i, —, ME L 14.000 m 11,985 167,790 | SHL 29%
T00014 7 == > AG%iE (Hmjie A BE) A - HA
1.000 L 247,537 247,537 | TH 13%
T00020 7 = > ARR{E (HAD H 7B & BE) A - HA
1.000 bich 47,564 47,564 | TH 19%
T00021 7 == > AGR{E (iR 0 i B & JE) HA - HA
1.000 L 84,837 84,837 | TH 20%
i 573,156
000023 #EEREIA 1 K&ty
1.000 = 119,950 119,950 | BE 23%
SA0223 fili%Ehs B Ik HA HA
TA7 7 SRR, 15emL F -, - 21.000 m 543.5 11,414 | SH 63%
SA0876 MAHLIEEIR T 1 v 7 K iE A HA
AR, AR (150/170 X 200X 600) , 41 Y , ML ,-,H 0, F4/7yvv7Y RC-40 14.000 m 3,949 55,286 | S| 83%
,18-8-25 (i)
SA0835 fiZEfEIA LKAk A A
Vg i T, AR RS %47 RM-40,100mm, 72 L 20.000 nf 844.5 16,890 | S¥ 815
SA0846 &fiEHIH  FKE A - HA
1.4nLh B, 7077 NESW 1 (2.208/m3) , FHAERRLET 23/ (13),7 G4k 20.000 ot 1,103 22,060 | SH 8%
b PK-3,30mm, 72 L
TO0015 # M4y (7 A7 7L k) HA - HA
2.000 n3 7,150 14,300 | TH 14%
B 119,950
& i 2,567,529
- [HREERELT
1.000 = 2,284,000




TRBRMmET -y % ( 5/ 10)
EEZAR s PN e
[TF4 | Ansrhgds (3) T%
4 O W) B & HLAT i & %8 fii_#
- - HEELI
1.000 = 2,008,000
000024 t+HHHEHI 1 K&ty
1.000 o 790,226 790,226 | BE 245
TO0005 Hififik K T HA - HA
114kg/m3 o B E2m 191.000 uf 3,480 664,680 | TH 5%
SA0101 F-AbHiH HA - HA
A A7 hyb, - ML HEL ,5,000m3A i, -, -, - 423.000 m3 296.8 125,546 | SH 47%
Fis 790,226
000025 1BE L 1 K&y
1.000 = 200,253 200,253 | B# 25%
T00011 HEFE L (EEHD) A HA
250.000 n3 426 106,500 | TH 115
T00012 (A%t HA - HA
83.000 m3 918 76,194 | THL 12%
SA0152 f& tikimift: b HA - HA
L SR OO O U O 1.0 RO 7 U 1 . O ) 47.000 it 373.6 17,559 | SH 59%
it 200,253
000026 #iE¥ERLE L 1 XLy
1.000 = 550,979 550,979 | BH 265
S02721 =7 U — REUEL (£715) HA - HA
A, IR e, Beb R, L 72w  40A8IRLEL L 37.000 m3 14,430 533,910 | S¥ 17%
S02721 HET m v HusE L HA - HA
AT, O e, BB, B, L 72\ 4 BIRLL 2.400 n3 7,112 17,069 | SHi 18%
i 550,979
000027 &+ - AWy 1KY
1.000 = 466,711 466,711 | BE 2712
T0O0001 %% 144y HA HA
53.000 m3 3,734 197,902 | TH 1%
T00002 # 7 KLsy (HEfT;) A HA
2.400 m3 6,076 14,582 | THL 2%
T00003 7 7 4%y (45H5) HA - HA
37.000 m3 6,871 254,227 | TH 3%
i 466,711
& = 2,008,169
- - |BERAET
1.000 = 276,000
000028 LiRMIFAZET 1 KLy
1.000 = 133,734 133,734 | BE 285
SA0311 #Eff =2~ U — h(18-8-20BB) HA - HA
ST - SRR ER , 2V ) ) - R /7" AT, 10m3 LA b 100m3A T , — k38 4= 1.600 m3 26,170 41,872 | SH 705
SERMEL ,-,-, & F
SA0312 HUHE /MY HA - HA
—ARTR, A - SRR S 5.400 nf 8,635 46,629 | SHL 76%
T00004 & A > b 3L Fehl BA - BA
2.300 m3 18,962 43,613 | TH. 475
P96007 27 7 h/3A HA - HA
SGP40A 3.000 m 540 1,620
i 133,734
000029 FiREIFAET 1KY
1.000 = 142,482 142,482 | BE 29%
SA0311 #Eff =2~ U — h(18-8-20BB) HA - HA
HEFT - R AEIE , 300 - bR 7" ALFTRR, 10m3 LA 1 100m3A i, — AR A, 1.100 m3 26,170 28,787 | SHL 70%
FERMEL -, -, %
SA0312 ZUpk /MY A - HA
— AT, $RAT - SR R 2.200 nf 8,635 18,997 | SH 76%
T00004 & A > b L2 Fil HA - HA
4.700 m3 18,962 89,121 | TH 4%
P96007 ' 7 7 kA 7 HA - HA
SGP40A 3.000 m 540 1,620
S02721 => 7 U — hEUEL A HA
e, dhRO 2, B, R, L 7R\ AiBIRLL | 0.300 m3 7,112 2,134 | S¥ 165
T00002 7 745y (HEHH) A - HA
0.300 n3 6,076 1,823 | TH 2%
i 142,482

S =
=) a

276,216




TRBRMmET =% ( 6/ 10)
EEZAR s PN e
[TF4 | Ansrhgds (3) T%
%4 B OR#) B & B i & %8 fii_#
EEIEE (k&I
6,840,000
- RET
1.000 by 6,840,000
s SAF—TJL—EET
1.000 = 280,000
000030 54 F+—7FL— M= 1KY
1.000 by 280,181 280,181 | BH 305
$18021 Y - Tk LAt HA A
72 U i, H250,0 A, 0081, 72 L 4.450 |  ton 23,124 102,902 | SHL 35%
TO0006 F A F—7 L — MiET HA - BA
5.000 m 28,832 144,160 | TH. 6%
S02721 = 7V — MEUE L HA - HA
AT , I e, BB, B, L 72\ 4BIRLL E 1.900 n3 7,112 13,513 | SH 19%
SA0101 FERRER A Hil 25 HA HA
Ay A7 vhyb, -, HEL ,HE L ,5,000m3A i, -, -, - 2.000 m3 296.8 594 | SH 48%
T00002 # 7 KLsy (HEfT; A A
1.900 n3 6,076 11,544 | TH 2%
T0O0001 %% 144y HA - HA
2.000 m3 3,734 7,468 | THE 1%
&t 280,181
& &t 280,181
- SRR T RER
1.000 = 714,000
000031 Bi#HT 1 K&ty
1.000 = 189,658 189,658 | BH 31§
$18031 JEi5 T HA - HA
72 U, PREATRIML, 22 L 48.100 | #Hnd 3,943 189,658 | SHi 36%
it 189,658
000032 BUHRT 1 KLy
1.000 = 24,525 24,525 | BE 325
$18033 AU R T. A HA
2 T R— PR N L 40KN/ i BAF 5.500 | “=m3 4,459 24,525 | SHi 37%
it 24,525
000033 7KET 1 K&ty
1.000 = 500,236 500,236 | BH 335
$18003 HE/k A v 7 i HA - HA
130, {E2EREHE K, 084 F~40 448 , i B, & 0 1.000 | f&FT 424,474 424,474 | SH 33%
S18004 HEAKK » i A HA
1~56,8Y9 1.000 i T 75,762 75,762 | SH 34%
it 500,236
& &t 714,419
- - RERER
1.000 = 5,846,000
000034 BEkIREEE - WE 1 XLy
1.000 = 212,801 212,801 | BE 34%
S18054 kMR iE - itk L HA - HA
AR~ R~ 175,130,1, 5 0 148.500 nf 1,433 212,801 | S 38%
it 212,801
000035 1l 3% & B &= 1 K&y
1.000 = 4,896,215 4,896,215 | BE 35
SA0101 it 4 A HA
T8, A7 iy b, -, BEL L ,5,000m3 4, -, -, - 1,570.000 m3 296.8 465,976 | SHL 495
$18002 KA+ 5 fii % HA - HA
B o, ,0m3, KB 548 72 L, Y 148.000 % 634 93,832 | SH 3%
T00022 #% el (M v — MKE &) A A
1.000 N 4,336,407 4,336,407 | THL. 215
it 4,896,215
000036 RBFAEEHE 1 KXY
1.000 = 737,100 737,100 | BB 365
S02115 2333 %1 5 B A - HA
60.000 A 12,285 737,100 | SH 11%
B 737,100

o =
=) a

5,846,116




THEEHMEF -y 27K ( 7/ 10)
[Fes [ -oMmpisEE  Kapbx
[TF4 | Ansrhgds (3) T%
ERCTIR D) B & HLATL fill & fii_#
B
1,433,000
B
1.000 = 1,433,000
EiE
1.000 = 1,433,000
000037 BifkiR ERE 1 HHyY
1.000 = 1,432,840 1,432,840 | B¥ 378
S19003 Wkik s E (H) HA - HA
LIS OEE (A ED) , 12mEL N, 30kmE T JEEE BLEF E LA, 26.000 | ton 10,000 260,000 | SH 43%
,,0.0,0.0
S19003 Wk s He (@ 55) A HA
LR OE (A )  12mPLN , 40km T A EH B L EF B L A0, 109.000 | ton 10,760 1,172,840 | SH 44%
,,0.0,0.0
Fis 1,432,840

op
e

1,432,840




THEBAMETF = v 7 £ (

8/ 10)

EEZANEN T E =PRSS

[C#s | Kepibkis (3) T

4 O W) B & HLAT fill & fii_#
"’HE
257,000
- BBE
1.000 = 257,000
- BBE
1.000 = 257,000
000038 BRI 1KY
1.000 R 256,617 256,617 | BH 385
S18103 {KJE 5154 % fii A - HA
X~ R~ A, 130 B 1.000 | f4FT 157,486 157,486 | SHL 40%
S18114 4y MR fi A HA
—HH3HRA, 15, R~ R~ 455,130 A 1.000 | @&t 48,737 48,737 | SH 42%
S18112 MK/ E) AR A HA
=H8,2.0, 3%~ B~ A, 130 0 30.000 m 1,131 33,930 | SH 41%
P96009 i /) FEATK} A HLA
1.000 Y 16,464 16,464
Fis 256,617

op
e

256,617




THEBAMETF = v 7 £ (

9/ 10)

[Fes [ -oMmpisEE  Kapbx

[C#s | Kepibkis (3) T

4 O W) B & HLAT i & %8 fii_#
R EEE
31,000
- B EEE
1.000 = 31,000
- - TERRE
1.000 = 31,000
000039 +HHERE (—HEMRKR 1 XHy
1.000 = 31,200 31,200 | BH 39§
P45146 PN ERER ool EAE SR A HA
2 iRtk Bkt 3.000 | 3tet 10,400 31,200
B 31,200

op

31,200




THBRMET - v 7% ( 10/ 10)

[Fes [ -oMmpisEE  Kapbx

[C#s | Kepibkis (3) T

4 O #) B & HLAT Bl & %8 fii_#
—{EEt L@
3,000
- —{EET L@
1.000 = 3,000
- - —iEET Al
1.000 = 3,000
000040 7<ffY A LEHRER 1 XHy
1.000 R 3,000 3,000 | BH 408
PFA345 ¥ HiFA R A HA
A 7 w2 1.000 | f#htk 3,000 3,000
B 3,000

a 3 3,000




